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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
Pl es
= 1 34, 168, 294
T
= 1 5, 009, 818
4T
= 1 4, 210, 591
AR (FtR) ik 2. bmAi
m3 720 5, 029 3, 620, 880
B (L) R - 2. 5mPA_ 4. OmAH;
m3 250 736. 1 184, 025
B (L) R - 4. 0mPL |
m3 1,930 210.2 405, 686
LR L
= 1 799, 227
ERTaELy A i) T T A [ 0 M6 ERLA ) A e
m2 2,070 386. 1 799, 227
LR L
= 1 13, 402, 220
AT
= 1 13, 402, 220
B ATy AFR AN MRS 5m/ s
m2 2, 470 5, 426 13, 402, 220
EE R L
= 1 4, 568, 524
E¥LT
= 1 100, 108
PR L
= 1 3,483, 516
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THEXy « T - FER - 5 Mo % LFENAL B G EHAm & T2 (BB
15 REE
m 86 40, 506 3,483,516
M
= 1 984, 900
2Ty b (re=7" Fl) t=30cm FEATIIAvF EIFER £R5~
15cm
m2 98 10, 050 984, 900
fFHFE R T
= 1 11, 039, 452
E¥LT
= 1 118, 095
TAT 7 MifZE T
R B &2 (B)
= 1 2,956, 843
& e (OE - D) FAITyveTy RC-40 {1 0 & 150
mm
m2 1, 090 812.7 885, 843
FE (FaE - B BERIET A2y (13) &% 40mm 1
cAmPh B3, omEL T
m2 1, 090 1, 900 2,071, 000
TAT 7 MifZE T
KBS (A)
= 1 2,956, 843
N & e (OE - D) FAITyvTy RC-40 {1 0 & 150
mm
m2 1, 090 812.7 885, 843
FE (FaE - B BRI A2y (13) &% 40mm 1
c4AmPh B3, omEL T
m2 1, 090 1, 900 2,071, 000
)Y - Mg T
TR B &S (A)
= 1 3, 056, 631
I & A (B ) FAITyveTy RC-40 {0 & 150
mm
m2 713 1,117 796, 421
= 18-8-40 (F47) &HZEE 100mm
m2 713 3,170 2,260, 210
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
fxa L
= 1 1, 951, 040
RHEBER T ny) CFE (180/210 X 300 X 600)
BB-1-3(250)
m 260 7,504 1,951, 040
Gan
= 1 148, 280
ARmE T
= 1 148, 280
AW B
= 1 148, 280
B TR
= 1 34, 168, 294
MR E
= 1 3,614, 281
B3 TS
= 1 416, 614
BIGREsET (K3
= 1 416, 614
MR E (FEH L)
= 1 3,197, 667
Wi
= 1 37,782, 575
B
= 1 12, 446, 121
T AT
= 1 50, 228, 696
— R
= 1 9, 341, 304
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
TS
= 1 59, 570, 000
THEBLF Y %H
= 1 5, 957, 000
TH#EG
= 1 65, 527, 000
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